EAGRAROBREERT — 2 N— ABISH —F

202057H23H (K) 9mEZHE3H

VAR B 648 5 %—M EEDE IR
[AE4£] 1% :320,000 3 ~ 23#&:102,000  ~ 3#&:58,000  43#%:38,000H” . 53&:26,000H
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
o . LI R : -1-1- — SRz (BEHE)
1 6 TO—F4 4 6 7 Vi 1.(3_1).6 1-1-1-1 | 40.3 2 ;1+851) pland
RIZRY—bEPR B:T7I/HFES B0
s = FTzE :31. —6-4— . — BREX (BHE)
21709 5527 4—1 4 6 e (11311/29) 6-6-4-4 | 40.1 1 (4+019) =
Lird bk—b BT Fv—Ta (B) #AEIA-FL—>a>AET7
- prava—m . 9-0- _ P )
3lglip| #7V 0/ 2 o4 ERs (17;3;% 2-2-2-2 | 40.5 1 <4_713) kA
LiN—HNE BiArUOvez Y &g
=4 KEFF) :32. ~9-10~ . — BEria—A (BEE)
4 3| ¥pv—-7v-—n i o4 e 1 (332)6 10-9-10-8 | 40.1 5 ?gg) i
R:O—XF> T4 L B:RYUZL & i
. . Az 3. -3-3- 2| - BEEX (BHE)
slglyg| 7V—d—1>7 o6 054%% 1(732t)7 3-3-3-3 | 41.2 9 zg;s he
R:7UF—v B:Eavr eIl BA77—L
4 4 | DNEERIE 1:32.7 9-10-9-7 |40.3| — 4 459 | EEHFE (BEE)
6|7/8|7H% 54.0 (NF) ) | (B J P N
Rigr—3UTL BE—TIT7— TALD4S
=, = B 6 | RARAER 1:33.0 8-7-7-6 | 40.8| — 10 | 476 |ZBERS (BHE)
1 MES TR 54.0 (1 1/2) Loy | S¥io57
LH ALY E = FBAEY—NT T TALD4IS
- SN 7 ER g : -8-8- — REEE— (5HR)
8lsls| 759 vyva o4 Ll 1(.13/32.)1 7-8-8-9 | 40.7 3 (iﬁ) i - 2
LixfayR—-5— B:LYyIL—X "HBET7— L4
¢ S ft 5 | BEER— 1:33.2 5-5-5-5 | 41.3| — 6 43 | mBE (BHE)
9 o |[IN=bHT— 54.0 (172) (+6) HEiex
LNNVTSY BYISTUa/— [ELAEEAIES
o = Ar — #H1ESse :34. -11-11- . — BEORK (BHE)
10 7 TANLSH=—J 4 6 A 1(374)6 11-11-11-11] 41.8 7 ‘&2 e
Rid—WRKTPYa—Ib B:TIE—h ES4HTT — L
. NN KA = : -4-6- - SBREX (BHE)
1"l |71>7>881> 6 5.0 1('33/‘2')7 44610 428 s (4_223) $3 R H
LAFAT—IEK B:E/TF5 EvJLy RT77—L4
® 1 —F—EBIERL
13—7+— 6,10,11,1,2,9,5,4,8,3,7
2ol=7r= 6,10,11,1,2,9,4,5,3,8,7
BEE 6,10,11,9,2,1,4,5,8,3,7
41—+ — 6,10,11,9,2,4,8,3,5,1,7
[ N3
B O 6 490 714K 6-9 2,840 e 6-7 630M RPEL:] 6-9-10 5,170
8 B 6 1609 6-10 290M B = 6-9 8,040M K31 6-9-10 32,740
9 1,340 9-10 2,080 B H 6-9 11,300M
10 1304

ARICOVWTRDTEEERROODE. TR LI,




